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s 2,180
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< 2,520
s 1,680
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02 IZHE M AHE X 4,200 4,200 0
OXNSAXEHE SAL SEE
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< 2,520
s 1,680
IIANZIE E L0l ALY 132,857 124,463 8,394
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< 15,943
s 23,914
307 gl2tol & 132,857 124,463 8,394
= 93,000
< 15,943
s 23,914
05 RIZHRIE 3 132,857 124,463 8,394
OJNAEELOIXJ ALY
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= 93,000
S 15,943
s 23,914
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= 58,420
< 7,303
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301 et a3z 73,026 83,466 A 10,440
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< 7,303
s 7,303
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01 = LH o4 1l 1,000 1,000 0
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01 At 2t 2l 1,500 7,290 AN5,790
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202 o4dl 1,000 2,000 21,000
01 = LH o4 1l 1,000 2,000 A 1,000
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01 At 22l 3,050 4,350 A 1,300
Oflget=&Hl] 2,000
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Oglzgsy 24dstAg 29
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Ol2gs E43tAY =AW
20,0003 = 2501 = 23| 1,000
= 1,000
301 et A3z 5,000 0 5,000
= 5,000
09 SAEHIE &S 5,000 0 5,000
OSHEZEAM Hd&X A
50,0003 = 2501 » 25 2,500
= 2,500
OSHEZEAN |duns &I A 24
50,0003 = 2501 » 25§ 2,500
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301 et a = 4,500 4,500 0
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Ha: WHSYPH (FUEXA)
¢l =gl CEE-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ORMEY SHAHL  7,0008 » 79 » 47 2,303
202 01 | 4,200 4,060 140
01 20 Hl 4,200 4,060 140
SN2 BUHA 20,0008 * 79! + 30 4,200
SXNEAE 22 10,590 10,590 0
201 2Bt | 6,150 6. 150 0
01 AR 22/t 6,150 6. 150 0
Olget+2H] 3,000
ORNESY S 4 3,000,0008 * 14! 3,000
ol2zH] 3,150
OSAHSY SAUAY 7,008 + 62 * 752 3,150
202 04 | 4,440 4,440 0
01 2LHO! bl 4,440 4,440 0
SN2 SUHA 20,0008 * 69! + 37 4,440
MEeme Jl2Z) 9,120 0 9,120
201 2Bt | 5,520 0 5,520
01 AR 22/t 5,520 0 5,520
Olget+2H] 3,000
ORMN2Y S 4 3,000,0008 * 14! 3,000
olzzH] 2,520
OSAHSY SAUAY 7,008 « 42 * 90 2,520
202 04 | 3,600 0 3,600
01 2LHO! bl 3,600 0 3,600
ORNEY U4 20,0008 * 49 » 45 3,600
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TVEPE 915,571 400,000 515,571
YBZNIIZSY SLIAANTES (YY) 915,571 400,000 515,571
701 DBt HSHES 915,571 400,000 515,571
NEEEREEE] 915,571 400,000 515,571
SEEEIPEEEEPIREE
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